
Spiel 1 Spiel 2 Gesamt

Spiel 001 16:13 A 1 PANHOFER Josef 55 + 54 = 109

A 2 KÖCK Ernst 45 + 43 = 88

Spiel 002 16:19 A 3 PRINZ Josef 52 + 45 = 97

A 4 MÖRXBAUER Franz 50 + 57 = 107 O

Spiel 003 16:27 A 5 HAHN Ernst 56 + 46 = 102 #

A 1 PANHOFER Josef 62 + 58 = 120 # #

Spiel 004 16:36 A 2 KÖCK Ernst 38 + 46 = 84

A 3 PRINZ Josef 41 + 54 = 95

Spiel 005 16:44 A 4 MÖRXBAUER Franz 56 + 49 = 105

A 5 HAHN Ernst 60 + 58 = 118 # # O #

Spiel 006 16:53 A 1 PANHOFER Josef 54 + 53 = 107 # #

A 3 PRINZ Josef 51 + 46 = 97

Spiel 007 17:01 A 2 KÖCK Ernst 49 + 47 = 96 #

A 4 MÖRXBAUER Franz 51 + 58 = 109 O

Spiel 008 17:09 A 3 PRINZ Josef 55 + 54 = 109 #

A 5 HAHN Ernst 56 + 61 = 117 # #

Spiel 009 17:20 A 4 MÖRXBAUER Franz 53 + 59 = 112 O O

A 1 PANHOFER Josef 58 + 62 = 120 # # #

Spiel 010 17:27 A 5 HAHN Ernst 55 + 51 = 106 # # #

A 2 KÖCK Ernst 50 + 42 = 92


